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Quustion 1 is compulsory und Answer anv 6 from the remaining questions.
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was “Jaguar Land Rover'. Find the probability that he has

EEvery year a man trades his car for a new car in 3 brands of the popular company ‘Tatal
otors”. If ke has a *Nexon’ he trades it for a *Puncly’. If hie has a ‘Punch’ he trades if for a ||

1 |Jaguar Land Rover’. If he has a *Jaguar Land Rover’ he is just as likely to trade it for a new 1] con

I'Jaguar Land Rover’ or for a *Punch” or a ‘Nexon’ one. In 2020 he bought his first car whic i [

i) 2022 *Jaguar Land Rover’ ii) 2022 *Nexon' iii} 2023 *Punch’ iv) 2023 ‘Jaguar Land Rover’
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i) Find the value of K, i) PIX =2 5)and iD P(3 < X £ 6).
i H T -

The probability distribution of a finite random variable X is given by the following data ]

X g | 1 | 2 | 3 I & 1 5 | & |
P(X) K | 3K | Sk | 7K | 9K | DK | 13K |

] . = . . . "
i 3 [Find the mean and standard deviation of the Poisson distribution.
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4 .ki} 3 boys (ii) 5 girls  (iii) either 2 or 3 boys
inrobabilities for boys and girls.

Out of 800 families with 5 children each, how many families would you expect to have i
(iv) at most 2girls, assuming equal (7) ' 002 \




e
istributed. It is
kb (1.4757) = P(0 = Z < 14757) =043

given that ¢(1.2263) = P(0<Z < 1.2263) =0.39

In 20 examination 7% of students score less than 35% marks and 89% of students score
5 E{ ss than 60% marks. Find the mean and standard deviation if the marks are normally

’ -4 2 7
6 X

The joint distribution of two random variables X and Y is as follows.
Y

I 1/8 | /4| 178
5 14 /8| 18

Compute the following: (i) E(X) and E(Y) (i) B(XY) (1) p(X,Y)
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krror (iv) Test of significance

Define (i) Statistical Hypothesis (i) Critical region of statistical test (iil) Type 1 and 11

[N | co4

significance level of (a) 0.5 and (b) 0.01 that the thread has become inferior?
Tabel values Zg o5 = +1.645 (One — tailed), Zy o4~ +1.96(Two — tailed),

Zooy = £2.33 (One — tailed), Zy 1= £2.58 (Two — tailed),
§ —

Tt has been found from an experience that the mean breaking strength of a particular brand
of thread is 275.6gms with standard deviation of 39.7gims. Recently a sample of 36 pieces
of thread showed a mean breaking strength of 253.2gms. Can one conclude at a

e
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